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A% — 2a3A — 4ajag = 0.
(%) 4 BE=2,EC =y,DF =a,FC =b> &

A+ (a+b)(z+y)=24A=2(a1 +az+a3) + by
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A+az+ay+br + by = (a + b)x + a(x + y) + by + 2as.
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A = ax + 2a3.
#
A? = azA + 2a3A

=z(a+ba(x +y) + 2a3A

= (2a1)(2a2) + 2a34,
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A2 — 2a3A — 4a1a2 = 0.
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ANOA1ANOA3AL + NOASASANOA1Ay = NOA1A3ANO A Ay,
A1Ag - A3Ay + AgAs - Ay Ay = A1 Az - A Ay;
(xg — x1)(zg — x3) + (w3 — x2) (24 — 1) = (T3 — 1) (T4 — T2).
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sin asiny + sin(a + 5 + ) sin 8 = sin(a + ) sin(5 + 7).
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ANOA1ASNOA3AL + NOAASANOA1 Ay = NOAL1ASANO AL Ay
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%OAlOAg sin av - %OA30A4 sin 7y
+ %OAQOA:; sin (3 - %OA10A4 sin(a + B+ )
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= EOAlOAg sin(a + ) - 50A20A4 sin(8 + 7).
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sin asiny + sin(a + 3 4 ) sin § = sin(a + () sin(f + 7).
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sinasiny 4 sin(a + § + ) sin
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=—3 cos(a+ ) + 3 cos(a — )
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-5 cos(a+ 26 +7) + 5 cos(a + 7)

= % [cos(a — 7y) — cos(a+ 20 + 7))

= ¢ |-2sin (a—7)+(;+2ﬁ+v) <in (a—v)—(;+2ﬁ+v)
= —sin(a + ) sin(—4 —v)
= sin(a + ) sin(5 + 7).
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M1oM34 + 14723 = T13T24-
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T12T34 + T14723
1
= §A0A1 x AgAg x AgAsz X AgAy [sinasiny + sin(a + 5 + ) sin f]
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= §AOA1 X AgAg X AgAg X AgAy sin(a + ﬁ) sin(ﬁ + ")/)
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1.3 SHAEmTR

B3 AOA1A2A3A4 é]t‘l‘lﬁ.é'ﬁj ’ —:—%'ﬁj A4AOA1 é’]@ﬁé] ap AoAlAQ é’]@ﬁé] aj
A1A2A3 é’]tﬁ?ﬁ%ﬁ] as A2A3A4 é‘] @ﬁﬁ] as ’ A3A4A0 é’]@%‘ﬁ%ﬁ] a4 °



Ag

Ay

Ay

Ag

Az
S E R B S AgA1 A AsAy B BAE T AR R ag, a1, a2, a3, a4 AR
MR AEEN BH AKX

/‘iEffﬂ 1.1 %/’(\ A i%f-@ﬂ'} A0A1A2A3A4 é’]@%‘ﬁ% ’ rflﬁﬂﬁ C1,C9 ;‘:ﬁ]

1 = ag+ a1 + az + az + aq;

C2 = apa1 + aias + asas + azas + asag,
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A% — 1A+ cy = 0.
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T2 = a1,

T34 = Q4;

T14 = Q0;
T3 = A — a1 — ay;
T3 = A —az — ay;
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ai1ay + a()(A —a] — a4) = (A — a9 — a4)(A — a1 — ag),
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A2—61A+CQ =0.
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a1(A —a1) = ajaz + azaz + aza;.
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